HH2F 48 SEBLENEMRSR MAS - -
HfT kg Bifi kg
o A | LR |mkmsE| A B8 || —mecalpxrecs] # | B8 L K
— — B #% | 2455 | 251,878
ER 1,094,070 805,750 | 1,899,820 IR 1,760 15,310 17,070 EA iE
| 368,550 174,940 543,490 5 A 2,220 0 2,220 HE £TH 1,836
HE 343,290 262,330 605,620 59.9% H 3,120 5,890 9,010 | 73.4% 218 FEH
xE 120,460 0 120,460 xE 0 0 0
ERTHET | 1926370 1,243,020 | 3,169,390 EFEmEt 7100 | 21,200 28,300
N 1,160,970 416910 | 1,577,880 N ] 7,870 100 7,970
=EE 171,850 217,750 389,600 ZE 270 0 270
40.1% 26.6%
EE 71,780 80,790 152,570 EE 2,020 0 2,020
HNETHET | 1,404,600 715,450 | 2,120,050 WETHE 10,160 100 10,260
3,330,970 [ 1,958,470 | 5,289,440 =t 17,260 21,300 38,560
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HH2F 58 SEBLEWIBME WA - -
B kg B kg
=T
e LR |#iemse| &t I P A A L &
— B | 14855 | 219,689
905,970 578,730 | 1,484,700 IR 1,560 10,680 12,240 A e
= :
296,880 176,230 473,110 4 A 2,170 0 2,170 = HZH 1,619
324,370 199,120 523,490 56.2% H 2,360 6,540 8,900 [ 68.6% 21B¥FH
101,960 9,590 111,550 xE 0 0 0
ERTHET | 1629180 963,670 | 2,592,850 EFEmEt 6,000 | 17,220 23,310
1,115,470 465,290 | 1,580,760 N ] 8,120 100 8,220
211,040 68,130 279,170 =E 340 0 340
43.8% 31.4%
91,600 69,090 160,690 [EE 2,130 0 2,130
WETHET | 1418110 602,510 | 2,020,620 WETHE 10,590 100 10,690
3,047,290 [ 1,566,180 | 4,613,470 g 16,680 17,320 34,000
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1,800,000
1,600,000
1,400,000
1,200,000
1,000,000
800,000
600,000
400,000
200,000

HH2F 68 SBLENEMRSR MAS " .
BT kg B kg
we | LR |mmEr|  E e e 7 oW
— — B | 14855 | 229,514
ER 1,027,930 569,090 | 1,597,020 IR 1,820 13,030 14,850 E)E\ B
| 358,100 157,420 515,520 5 A 2,330 0 2,330 TE £oa 1,973
HE 369,840 271,560 641,400 60.1% H 2,860 9,100 11,960 | 70.3% 21B¥FH
xE 101,570 41,420 142,990 xE 0 0 0
ERETET | 1857440 | 1,039,490 [ 2,896,930 ERMET 7,010 22,130 29,140
N 1,130,770 398,150 | 1,528,920 N ] 9,660 50 9,710
=EE 190,710 49,630 240,340 ZE 370 0 370
39.9% 29.7%
EE 92,810 60,800 153,610 EE 2,210 0 2,210
WSETHET | 141429 508,580 | 1,922,870 METHE 12,240 50 12,290
= 3,271,730 | 1,548,070 | 4,819,800 = 19,250 22,180 41,430
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25 7H SEBLWNIBHER MAS - -
B kg B kg
e A | LR | mfomsE| e e = fa L R
— — B it | 2 1e4855 | 246,695
ER 1,188,620 700,160 | 1,888,780 IR 1,830 19,530 21,360 E )E\ B
| 369,690 175,040 544,730 5 A 2,320 0 2,320 = x| 2150
HE 370,430 216,470 586,900 60.8% H 2,660 6,670 9,330 [ 73.1% 218 FEH
xE 129,510 0 129,510 xE 0 0 0
ERTHET | 2058250 | 1,091,670 | 3,149,920 EFEmEt 6,810 | 26,200 33,010
N 1,216,590 357,680 | 1,574,270 N ] 8,860 100 8,960
=EE 221,710 40,110 261,820 ZE 530 0 530
39.2% 26.9%
EE 113,940 80,650 194,590 EE 2,660 0 2,660
HNETHET | 1,552,240 478,440 | 2,030,680 METHERl 12,050 100 12,150
3,610,490 | 1,570,110 | 5,180,600 =t 18,860 26,300 45,160
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Hi2F 8H FBEBLWNIBEHER WMAS - -
HfT kg B kg
we o | LR | miemse| e e e = e L R
— — B #% | 24055 | 231,815
IR 1,050,460 542,670 | 1,593,130 IR 1,700 14,410 16,110 E )E\ B
| 345,620 162,810 508,430 5 A 2,710 0 2,710 il I e 1,985
HE 357,970 261,010 618,980 58.2% H 2,530 10,240 12,770 | 75.8% 21B¥FH
xE 110,940 0 110,940 xE 0 0 0
ERTHET | 1,864,990 966,490 | 2,831,480 EFEmEt 6,940 | 24,650 31,590
N 1,225,790 317,050 | 1,542,840 N ] 7,480 60 7,540
=EE 211,870 149,260 361,130 ZE 340 0 340
41.8% 24.2%
EE 91,780 40,890 132,670 EE 2,220 0 2,220
WETHET | 1.529.440 507,200 | 2,036,640 METHER| 10,040 60 10,100
= 3,394,430 | 1473690 | 4,868,120 = 16,980 24,710 41,690
*EF, 16,110
LFR - L35 = 1, 340 108 2220
—H
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HH2F OB SEBENEME WA - -
BT kg B kg
we 2 | LR |memsr|  E el e e = I fa L R
— — B & | 24055 | 228,520
IR 947,050 500,500 | 1,447,550 IR 1,230 15,590 16,820 A
= :
| 331,420 217,670 549,090 5 A 1,990 0 1,990 R 1,839
HE 314,470 384,060 698,530 58.5% H 1,880 8,850 10,730 | 76.5% 21B¥FH
xE 110,920 0 110,920 xE 0 0 0
ER/THET | 1,703860 | 1,102,230 | 2,806,090 EFEmEt 5100 | 24,440 29,540
/] 1,110,460 379,420 | 1,489,880 N ] 6,960 30 6,990
=EE 190,940 158,660 349,600 ZE 280 0 280
41.5% 23.5%
EE 71,850 81,500 153,350 EE 1,800 0 1,800
WETHET | 1,373,250 619,580 | 1,992,830 WETET 9,040 30 9,070
= 3,077,110 | 1,721,810 | 4,798,920 E 14,140 24,470 38,610
. G =N _
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SN2 108 SeBEWIBHER WMAS - .
B kg B kg
we o | LR |memse| 808 |en | —RECHERRESH | BA L R
— — B it | s ieim5 | 241,252
ER 977,820 770,660 | 1,748,480 IR 1,320 18,300 19,620 E )E\ B
| 353,020 168,220 521,240 5 A 2,000 0 2,000 TR &cam | 2118
HE 352,460 379,010 731,470 62.2% H 2,200 10,460 12,660 | 77.1% 218 FEH
xE 111,030 40,630 151,660 xE 0 0 0
ERTHET | 1794330 1,358,520 | 3,152,850 EFEmEt 5520 | 28,760 34,280
N 1,056,930 419,760 | 1,476,690 N ] 7,690 0 7,690
=EE 190,030 75,180 265,210 ZE 300 0 300
37.8% 22.9%
EE 91,860 79,680 171,540 EE 2,200 0 2,200
WETHET | 1,338,820 574,620 | 1,913,440 WETHE 10,190 0 10,190
= 3,133,150 [ 1,933,140 [ 5,066,290 = 15,710 28,760 44,470
. RN B &8, 2,200
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